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TAWNBAP BUYUT

EpeHxul x3c32: bapunae dym33yulH 3ypaz mecaulz dalzanb yaz yypsiH Goopxu Hexuend moxupyyaaH menebned.

YyHQ 2a0dHQ Q2aapbiH MOOL0OHE MeMnepamyp 314 °C
UacHbL a4acaan 70 ka/M?
CA/NXuHs! avaanan 33 ka/m?
2a3ap xednenuuH 6 dann.
byype: bapunaeH  uHxeHep  zeono2utH  “BMIY3WX"  XXK-ulH 2024 oWd  SonoBcpyyncan

Apxub N2005/024 moom uHxeHep 2eono2ulH Gy2H3nmuUH Gc2yy cyypb CYyx Byl ByYypb Hb MOOCOPX02 3AC3H
xepc doaHo. (ydanzaawer mandaud mMAPXCAH MOOCOPX02 3ACSH XBPC Hb YAUpAbIH xendenmulH Byc3d cynaBmap
oBolnm yyca3H3. Ynupns xendenmuuH sopMamud 2yH Wb 3,17M. Cyyps cyyx xepc Hb 2ap apaaap Manmaxad axAbiH
33p32 Hb | 32p32m daemana. Cyyps cyyx dyypb XepC Hb 3ypazm 30GCHAGC WUHX YGHAP Y3yyA3Am33p33 3epyyms3d
86p MepAuUH xepC 30/70H ac2aac xepc, Hyx, odoo dalzaa wyaaM CyAx33 33p32 3yUn un3pbsan xcadoz2dox xyMmyycm
M303203X, MexXHUKUUH wuud3n 2apayynax x3p3z2msd.
Tooropxo2 3/MC3H X6PTHUU WUpx32ulH dyp3nG3xyyHa:
- Xaup, xatpea 4.0%

- 3nc 62.0%
- Tooc 25.5%
- WaBap 8.5% myc myc azayynazdaHa.

CyypulH Hyxul2 H33cHuU dapaa 3adaal OpxuX HOp20X B0NOH XUM BHXYYAX Byupb xepcHulz xendeex dopoxayu.
CyypulH Hyxud2 yxax H33CHUU dapaa xondo2dox xyMyycude daUAUYYAQH UHXEHep 2e0A02UlH 30XU024UUH XSHAAM
xulne3x dy2H3nm 2apayynax x3p3z2m3l. byyps Sonox xepc Hb QyHd 33p2ulH 0Bolnmmold Mmyn 2a3ap WOPOOHI
axnblz xuix833 komnoband yc qulz opyynaxayuzssp 15/11-15/V et xoopoHd xuiB3n 3oxuamol. Al ,6,8-p
M3HXA32UUH X3C32M cyypulH doop donoH 3p23H molpoHd xapuH Al,1,6 x3c3z Sywy 3aaaxs x3csam 3ebxen 2adwa
3p23H moupoHd Hb OXY-biv “TexHo-Hukens” dupmudn “Planter” mamepuanaap yc 4ulzwul xameaaaaam xulx
82He.

Cyype: [c30p woOpoOHH GXAbl2 MEXAHU3MAAp Cyypb cyynzax mecauldH myBwuxz3sc 833w 20-30cm dymyy
yxax myyH33c doow mecaulH myBwuw xypm3n 2apaap yxax x3p3ams3d. bapunzsi cyypulz memepdemoH dazaHaH
cyypsmadzaap mensBned. Cyypuax demowsl awau B20 /BM250/, axasiv apmamype aweu MNS JIS G 3112, TOCT
5781-82xl donHo. Llymeaman memepdemoH cyypulH Soop 10cM 3ysaaw B10 /BM150/ awaulH Semod 83amz3n XUlH3.
CyypulH apmamypynansiz xulx sbuad dazana, uymzaman xaHa doao Sycad xuluulH 2apzanzaa apMmamypyydsiz
dadpnyyax e2ex x3p3am3u. Cyypulz xulx 2ylu3sm23xd33 pambiH 3ypayydmad catmap ysadyyax y33x x3p32mal.
Bemonsl axnelz 2ylysma3xdss “Llymzaman memep demon dym3sy” BHY[-52-02-05, Llymeaman memepdemoHsl axun
2ylysmeax 3aabap B[152-102.04-udH 3aaamyydelz Sapummandan 3oxuHo. 300pUlH XAHBIH Xepcm3d xuln3x Xx3c3zm
docoo yc myczaapnaeyuiz xyUmH33p xuucsH 036ce3p 833p 2 ye xap moc xulx 2ydusmz3w3. (yupulH xaxyyzaap
oBolnm yyce3dazeyl 3ac xalp2mH Xepceep 4u2xux 0Oa 3payyax Yuaxux xecpcudz 20cv mumamd  yeynsw
HsempyyaHa. HsempyyncaH xepcHUU 333AxyyH xuH 1652p/cm3 - 33c¢ dazazyl dalwa.

Llymeaman meMep demoH pam: bapunawit daaubiH yHdcsH dymasy Hb yymaaman memepbemoH apaz
dym3sy dadHa. Llymzaman memepdemoH xuluuulH demonsl anau B20 /BM250/, axasii apmamypsik avzu MNS JIS G
3112, TOCT 5781-82«| SonHo. Lymzaman meMepdemoHsl axabi2 2ylu3ame3xdss “Liymzaman memep SemeH dymasy”
BH8[-52-02-05, lymzaman memepdemoHs axun 2ydusmz3x 3aabap BA52-102.04-ulH 3aanmyydsiz SapumMmandan
3oxuHo. X38 xawman He Sam dex, moamBopmol Hexuneep xaHzazdcaH Salx waapdaazamad da SemoH dam d3XUUH
d3xxunmuiHx33 70%-utz abaxaac emHe x36 xawmansiz cynnax donoxayl. bemoH 3yypmazaac xondo280x XYpMbIH
daeyy 933x aBy, dam d3xudz modopxounyyncax dadx waapdnazamadl. Uymzaman xulty3d 3383py MyydcaH, maxudx
MypulcaH apMamyp awuzAaxsi2 xopuz2/oHo. Apmamypsid axnsiH 58uad yz pammad xondozdox uymaaman dam
HYpYyY, xyqunm, wam duadpazm xara 933BpulH xawnaza, mazmHs! Xxaaam, 20peanzaa apMamypyydsiz x3BHul
3ypaam y3yyacHuu daayy dalpnyynax waapdnazamau. bemoH 80n10H apMamypynansiH axun 2yly3ma3x akmsl2
yindsxd33 soxuoz4ud y3yyacsH 6alx waapdnazamad.

XaHa: bapunabii 2adHa xaHbiH 3y3aaH 510Mm dalx da 360MM uapyyy 2yndmalzaap epx 2a8Ha MAnaac Hb
150Mm xeeceH nosucmpon xaBmaxzaap dynaanx, mopmol waBapdaaza xudHs.

- 360MM-ulH uapyyy 2yndmal Hb 500k2/M3 333axyyH xuHm3l, M25 mapkulH MNS 0831:2001 cmaxdapmelH
wacpdnazble  xaHzacaH dalHa.

- XeeceH nonucmpon M25 mapkulH MNS 13164:2001 cmaHdapmsiH waapdnazuiz xaH2acak dalHa.

XaHblH epaulH 3yypmaautH mapk M50 dalHa. BpaudH axund x38m33 donoH d0CO0 Yu2/AyyA324 YMChi2 MO2MMOA
wanzax, Wan2ax x3p32cAulH xsHanmeiH doop 4Yawapmal 2ydu3mz383n 3oxuqo. FadHa donoH domop XaHbIH MOpbI2
3ypaem 3aacHel dazyy epnezulH eHApulH 500MM mymamd Hulm XaHbiH ypmbiH da2yy apMamypyuaka. [adHa XaHbi2
dazaHamad 3ypaem y3yyacHud dazyy 33x3nH3. Xamap xaHbiz 2M mymamd TBb-1-33p xyqunmmal 83xn3u3. Anyye
WUH3 3YyncaH 3yypmaz 833p 2 mansiz Hb M3HUYY cyyn2aHa. BpneaulH axnbiz e6AuldH Hexuend 2ylusma3xule
Xamyy Xopuz2/oHo.

Wam: Wam SonoH AugpmHsl XaHa Hb MeH uymeaman memepdemoH dalHa. Llymeaman memepSemo xuluulH
demoHsl anau B20 /BM250/, axnaeid apMamypbii ax2u MNS JIS G 3112, TOCT 5781-82*| SonHo. WamHs Mapwudz
3ypaem y3yyacHul dazyy uymzaHa. bapunza yacpanmeiH 58uad AupmHbl Xxawnaza xaHaHd 2ap2acad xaan2aHel
Hyx BonoH xy4unmaHd 2apy dyd Hyxudz dabxap myc Sypd He myp xaanmaap maznaban 3oxuHo. X3B xawMan Hb
dam dex, mozmbBopmol Hexuneep xaHzazdcaH daldx waapdnazamad da SemoH dam O3XUUH d3XXuAmMulHx33 F0%
-ulz aBaxaac eMHe cynnax donoxayd.

Xy4unm: Llymzaman xyyvunmsiH apMamypyndneie 8aM HYPYYHbl apMamypynanmau xammad Hb  xulx
waapdnazamad. Lymzaman memepdemon xuluudn demoHsl anau B20 /BM250/, axnwiH apmamypsii aveu MNS JIS G
3112, TOCT 5781-82*| SonHo. Llymzaman memepdemoHbl axAble 2ylusme3sxdss “Llymzaman memep SemoH Sym3sy”
BH5/1-52-02-05, Lymaaman meMepSemoHbl axun 2ylGusmzsx 3aabap BA52-102.04-ulH 3aanmyydeiz dapumMmandan
30xuHo. X38 xawman Hb dam dex, mozmBopmol Hexuneep xaHzazdcaH dalx waapdnozamal da demoH dam d3xudH
Saxxunmuinx3s 70%-ulz aBaxaac eMHe x3B xawmanwbie cynnax donoxayl. bemoH 3yypmazaac x0ndo2doX XYPMblH
dazyy 833 aby, dam d3xulz modopxolnyyncan dadx waapdaazamad. Lymzaman xuty3d 3363p4 MyydcaH, maxuux
MypulcaH apMamyp awuznaxbsli2 Xopu2noHo.
3aanHbl Xy4uamelz Memann xudun3a3ssp xulx 15cM-H c3ugbud xaBmawmal datxaap meneBned. (3ndbuy xabmaw Hb
cmandapm MNS 4629:1998-biH waapdnazbiz xaHzacaH daux waapdaazamad.

BemoH 00N0H apMAMYPYAQALIH axua 2ylu3mz3x akmelz yUndaxd3s 3oxuo24ud y3yyncsaw daux waapdaazamad.
Xy4unmaHd 2apax xanaanmsiH 0C00 WY2AMbIH HYX, UOXUN2AGH: WY2aM Cynx33Hul Hyx 33paude X(, LAX
mapkmad 3ypayydaac xapx waapdnazamal dadpaand 2aH sHdax cyBasx uymzaxa. Lymzaman xysunmaxd zapax
HYX3H 833p H3M3203n apMamypsiz 3ypazm 3aacksi dazyy mabux waapdnazamad. Xysuam uymzax siBuad
xaMzaananmeliH ye andazdaxcac xaMzaancaH apaa x3mx33 cbean dalx waapdnazamad.

Xasaaby: bapunzeii 3p2an moUpoHd 120cm epaenmat B10 /BM15/ awautu SemoHoop 8-12cm
3ysaaHmalzaap uymeax 20MM-UlH UEMEHM3H BH28N266 XUUH3.

Meman xudu: 3aanHsl xysuameii dym33u3d (345 MapkbiH HaM xonAbumod, eHdep dam d3xxuamm3U dyms3uulH
2aH awuznaHa.( Monzon yncei BHE 53-02-05 HopM JosioH uxun mepaulH cmaxdapm)
FazHaacsiH mMapk (6-08M2C no TOCT 2246-70. MaeHyypeiz xuixd33 (02 dawcuiH op4uHd xulH3. [azxaacsH
xaMzulH daza kamem Hb SMM dalHa. [azvaacsiz 3-42 FOCT S467-75 daayy 2azHana. [an dym3asyudH x3c32n34,
202HAACHH X3M%332 [aw dym3syude 834m23x, yacpax axnbiH anbdom 02SG518-1 anbdomeiz ax/biH  3ypazm
myczacaH 3ypazmad xaMmamzaH y3H3. Boonmuel xondoocsiz xulx s6uad Sconmksl YaHzapanm, x3Mx33, daupaansiH
manaap 2yluamz3csd myxal dypm Hb akm xemenceH dadBan 3oxuHo. Meman dymasuuld x36m33, xondoocsi2
aXAbiH 3ypazm 3aacad xulx 2ydusamz3B3n 3oxuxo.
Fau dymasuyydudz 338p3am, Bono e2an m3cBapasnmudn dydzaap dydcaw Taux waapdnazamad. TeMep KAPKACHH
2an m3cB3pnulH 33p32-2, da2aHbH YPCANMbIH Xs32aapm Xyp3x 2an m3cB3apasx xyzauaa 2.5 ug2, GaMHYPYYHsIX 2
ya2 donHo. Byx zan myGBanzyyd He SD390 Bonon SR235 mapkeid xanyyHaap uybbcad donox xyUmHssp cywzocaH
apmamypmal (MNS JIS G 3112:2002 cmaxdapm) uxun ypcanmsid u32mad, ypcasmeld U32ulH damanzaamad, waxaam
CyHanmbid xy4dsa, CyHanmbiH Ko3pQuUUUEHMM3U MAMepUan awuzndHa.
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